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QUESTION 1

What is the estimated space savings from audit log compression on an Isilon cluster?
A. 25%

B. 50%

C. 75%

D. 90%

Correct Answer: D

QUESTION 2

What will occur when an Isilon node pool is below the recommended protection level?
A. CELOG will generate an underprotected event

B. File will be striped to an additional drive

C. File will be mirrored

D. An additional copy of the metadata will be stored on the SSD drives

Correct Answer: A

QUESTION 3

Which component is passive during LACP communication between the cluster and the Ethernet switch?
A. Isilon

B. Switch

C. MAC address

D. SmartConnect zone

Correct Answer: A

QUESTION 4
An organization has two different Isilon clusters:

Six-node cluster in London, England Eight-node cluster in Paris, France They are using SynclQ to replicate between the
clusters. Each site has access zones configured and
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SmartConnect Advanced is licensed.

The organization is actively engaged in a failover from Paris to London. During testing, they realize that users from the
Sales department in Paris are receiving authentication errors from the London cluster. Which step should be taken to
troubleshoot this issue?

A. Verify that the Sales access zones for Paris are configured on the London cluster

B. Verify that the Sales access zones for London are configured on the Paris cluster

C. Verify that the SmartConnect zone for Sales in Paris is set to the system access zone

D. Verify that the London cluster retained the Paris user list

Correct Answer: A

QUESTION 5

Upon review of an existing Isilon cluster, a storage administrator discovers that the cluster is in compliance mode.
However, some files are beyond their maximum retention period but are not out of the WORM state. How can this
condition be explained?

A. Compliance clock is out of sync with the system clock due to downtime and has not yet caught up

B. Files do not age out of compliance and the WORM state cannot be modified once written

C. Files were never updated to free up space

D. Users specified shorter individual retention periods than the directory configurations

Correct Answer: A
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